2.1
Denying a 4 card major
Many books will tell you that if partner opens 1NT and your shape is 4333 or 3433 then you should ignore Stayman and jump directly to 3NT if you have the values for game. This is

not one of those books!
Hand A
Hand B
Hand C
Partner opens a strong NT (15-17), what do you do?


Obviously you have the values to try game, but 

( KQ53
( 74
( A107
Stayman or a direct 3NT? Now ‘everybody’ would 

( KJ74
( A1053
( A1053
bid Stayman with Hand A – if there is a fit in either 

( 64
( A1074
( J42
major that will be preferable to 3NT with this small 

( 1094
( J94
( 1094
doubleton (. And Hand B? Again, use Stayman. If  


a 4-4 ( fit exists, then 4( will normally be a far superior contract to 3NT. But what about Hand C? A direct 3NT on this flat hand or look for the 4-4 ( fit? This is from a club tournament and South opened 1NT, 15-17. North raised immediately to 3NT with Hand C. Is this the recommended bidding? I said no, the two players disagreed. Let’s examine this all in a little more detail.

Now we all agree (I hope) that 4-4 major suit fits are usually better than 3NT, especially if one player has a weak doubleton. The argument for not bidding Stayman on Hand C is that it is totally flat – no ruffing values. I totally agree, no ruffing values in this hand – but what about partner? He has opened 1NT, promising a balanced 15-17. If he does not have a 4 (or 5!) card ( suit then there is no problem with bidding Stayman (you end up in 3NT anyway). So, let’s consider the case where partner does have a 4 card ( suit, is 3NT best? – very unlikely! The point is that although you do not have ruffing potential, partner may well have! Partner’s most likely shape is (any order) 4432. If he shows 4 (’s then, with this shape, you almost certainly belong in 4(, not 3NT. Partner will have a doubleton opposite one of your 3 card suits – when opponents have 8 cards in a suit then that spells trouble for a non-max 3NT. And what if partner also happens to be exactly 3433? Nowhere near so likely, but 4( is still probably the best spot! In this case you have three 6 card suits with the opponents on lead. It only needs one of them to be divided 5-2 (or worse) and 3NT is probably a disaster. The only case where it is preferable to play in 3NT rather than 4 of a major is when you have ample points (say 27+) and at least a double stop in every suit, even then, 4 of the major may be better. In this actual case you are nowhere near max for 3NT and both minor suits are suspect. Additionally, of course, if you are one of the enlightened pairs who may open 1NT with a 5 card major, then you will be the laughing stock of the club if you end up in 3NT missing a 5-4 ( fit!

Now if you change Hand C slightly, and swap the (A with the (4, thus having a very weak 4 card ( suit, then I would agree that there is a case for forgetting Stayman. With this actual hand (4 ½ points in (’s) the strong ( suit means that all the other suits cannot be adequately covered. Quite simply, a 4-4 fit will usually produce an extra trick and stops the rot of opponents running a suit.

The experts will continue to argue this for years to come (whether or not to bid Stayman when 4333 or 3433). Apart from all the arguments that I have put forward, two are undeniable: - (1) Partner may have a 5 card major and (2) Computer studies have shown that bidding Stayman has a higher success rate.

Never (or hardly ever) deny a 4 card major ! 

To satisfy the unbelievers, let’s look at possible bidding sequences a little more closely: -

West
East

Example 1




( KQ63
( A74

You are playing a strong NT. Obviously you open 1(, partner 

( KJ74
( AQ53

replies 1(, you support with 2( and partner raises to 4(. But
 

( 65
( J74

who was dealer? Makes no difference, the bidding is the same. 

( KJ5
( Q94

Actually instead of the final 4(, 3NT is a better bid just in case 


opener has supported on a 3 card suit; either way, the correct 4( 


contract is easily reached.

Now what happens if you are playing a weak NT? You open 1NT, partner bids Stayman and you again reach the simple 4(. If East opens the bidding that is certainly the case, but what if West is dealer? There are players out there who would not bid Stayman with 4333 type shape and just game values! 3NT is the wrong contract.

West
East
Example 2




( KQ63
( A74
Let’s try a couple of strong NT openers. If you ignore Stayman 

( KJ74
( AQ53
then you reach 3NT making +2 if (’s fail to break 3-3. You 

( K5
( A74
always make 12 tricks in (’s. This shows (yet again) the power of 

( KJ5
( Q94
a good 4-4 fit. Are there people out there who are trying to tell me 



that if East opens 1NT then they reach 4( but if West opens 1NT

they play in 3NT? 

West
East

Example 3




( KJ
( AQ4
So when does this policy of ignoring Stayman work? When you 

( Q764
( 9532
have an abundance of points (28 is a good norm) and all the side 

( KQ63
( AJ4
suits well covered. Often, the weakest suit is the ‘trump suit’. 

( AJ4
( KQ9
Here, ten top tricks, maybe also a ( trick in 3NT. And if (’s are 

trumps? Not so nice, you have to tackle (’s if they are 


trumps and it does not play so nicely.

There – ‘I told you so’ shout all the 3NT leapers in unison – ‘East should not bid Stayman on his 4333 shape’. Hogwash – it has little to do with being 4333. Consider what happens if East opens the bidding with 1NT. Presumably West then bids Stayman? 

Something is wrong – you reach 3NT if West is dealer but 4( when East is dealer? The answer is that deciding not to bid Stayman has little to do with being 4333, you must make the same decision if 4432! When the West hand opens 1NT in example 3, East could simply bid 3NT. And if East opens? - then West could simply bid 3NT. Being 4333 or 4432 is largely irrelevant to this decision to ignore Stayman, it is the quality of the 4-4 fit and having excellent cover in the outside suits that counts.

West
East
Example 4




( KJ92
( AQ84
One more example, loads of points, so 3NT with 4333 shape? 

( Q104
( KJ2
This deal illustrates what I have just said ideally. Partner (either!) 

( AJ3
( KQ4
opens 1NT. If you simply bid 3NT because you are 4333 then 

( A64
( 732
you will be in an inferior contract. Go for the 4-4 fit when you 

have decent trumps, especially if all outside suits are not well 

covered. The 4333 shape is a red herring.

East

Example 5




( K62

Partner opens a strong NT. Loads of points. Partner’s 15-17 plus 

( J732

this 15 means 30-32. Worth looking for slam? NO. Even if there 

( AKQ

is a ( fit then there is no slam because of the poor quality of these 

( Q73

(’s. With this abundance of points outside the major, bid 3NT.



Another way of looking at it is that this hand is not worth 15 points!

West
East
But partner’s 1NT may include a 5 card major! True, but in that



case his suit quality is not so great (we open the major with good

( AQ3
( K62
suits) and so even with a 5-4 fit 3NT may be best. Note that this

( K8654
( J732
decision to bid 3NT with ample points outside the weak major

( J8
( AKQ
applies to 4432 as well as 4333 type hands. Of course not if the

( AJ5
( Q73
other 4 carder is the other major!

West
East
Example 6
( A1064
( J952
Even with weak trumps it may still be best to play in the 4-4 fit,

( KQ84
( A6
here 6( is a very reasonable contract but there are only 11 tricks

( AK4
( QJ2
in NT. Even if you replace the (4 with a small ( so that the East

( 92
( AK64
hand is 4333, 6( does not need (’s behaving and is the best 


spot.

West
East
Example 7
( AQ3
( KJ6
And look at this example. Many (most) players would choose to 

( KJ654
( Q732
open 1NT with the West hand. East really would look pretty silly  

( Q8
( 1072
if he bids 3NT when opponents have 5 or 6 tricks off the top.

( AJ5
( KQ3


But there are always exceptions, and now we come onto something slightly different; we may have a 4-4 major suit fit but we have a long strong outside suit: -

West
East
Example 8
( A953
( J642
West opens 1NT, what should East do?

( A765
( 32
In these situations where the 4 card major is very weak and there

( AJ7
( 8
is a source of tricks elsewhere it is often best to go for the nine

( K9
( AQ8763
trick 3NT game. I would raise 1NT directly to 3NT with this East 



hand.

West
East
Example 9
( A953
( J642
And if the 4 card major is very weak and we have 6 excellent cards

( K84
( AQJ1096
in the other major then that may well be the best strain. With this  

( AK4
( Q
East hand I would transfer into (’s and then bid 4( (well actually 

( Q82
( 93
I would transfer to 4( via a Texas Transfer – we cover these later).




__________________________

I must emphasise here that ignoring the 4-4 fit is very rarely a good decision. It only applies when: -

-
the other three suits are well covered (with at least 27-28 combined pts and with no obvious weakness) and usually only when the ‘trump’ suit is very poor or

-
the 4 card major is very weak and you have a strong 6 card suit elsewhere or

-
we are not strong/shapely enough to bid over partner’s 1NT.



__________________________

OK, so we virtually always bid Stayman when we have a 4 card major. But does the 2( Stayman bid guarantee a 4 card major? And what are the continuations by opener and responder after



           1NT  -  2(  -  ?               that’s what the next 80 or so pages are all about!
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